Ju Ching Chu Secondary School (Kwai Chung)

F. 6 Vocabulary Quiz – November 
December 1, 2010                                            Name: ______________ (   )
I. Blanks Filling  (A Phrase A Day – November 2010)

1. Only those over 65 are __________ (able to have because they are the right age) for old-age allowance. 
2. The Chief Executive ___________ (introduced a new plan) a new housing plan to help the sandwich class buy homes. 
3. Showing respect for our parents is regarded as desirable ___________ (connected with the way children behave towards their parents) behaviour.

4. His car was in ___________ (an accident in which two vehicles crash into each other) with a motorbike. 
5. Some institutions still have a strong ____________ (a strong feeling against one group of people) against women.
6. He was punished for failing to ____________ (obey rules) with the school rules.
7. Our school is _________ _________ (holding a special event) to a group of visiting mainland teachers. 
8. She was arrested for ___________ the speed limit (driving faster than is allowed).
9. This decision __________ the way (created a situation in which sth can happen) for changes in employment rights for women. 
10. Attractive fringe benefits would __________ (influence sb to do sth) her to accept the job.
11. The cars were ___________ (very close) on the road to the city centre. 
12. We need a more ____________ (able to change to suit new conditions) approach to deal with the problem.
13. She is still ___________ (having money) dependent on her parents.
14. His hard work ___________ (helped to bring about) to the success of the exhibition. 
15. Sam’s parents were highly ____________ (expressing disapproval) of the school. 

II. Multiple Choice – News (October 16 – November 15)
16. A survey has found that most parents mistakenly believe that butter, peanut butter, condensed milk and jam are healthy breakfast choices for their children. A dietitian has pointed out that these ___________ are often rich in saturated fats, sugar and salt.
   A. strips    B. streaks    C. spreads     D. strands 
17. Hundreds of protesters took to the streets of Central yesterday to protest against a government policy forcing schools to close because of _________________.
A. surplus teachers     B. inadequate resources    C. financial strain    D. falling enrollment
18. A customs officer injured in an anti-smuggling operation was yesterday snatched from the jaws of death when a colleague donated part of his_____________.
   A. lung    B. liver    C. kidney      D. bladder 
19. Which of the following about a survey of hair loss is wrong?
   A. 68 percent said hair loss reduces their self-confidence.  
 B. 40 percent said hair loss hinders their competitiveness in the job market.   
C. A majority of respondents would seek treatment.

D. Many use shampoos for their hair loss.
20. "Uncle Four" Lee Shau-kee’s bachelor son Peter Lee has fathered three sons by using a _________ mother in the United States.
   A. surrogate    B. substitute    C. suffice    D. suture 
End of Paper
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F. 5 Vocabulary Quiz – November
(Phrases: October 2010   News: October 16 – November 15)

                                                                                       December 1, 2010                                          Name: _____________ (     )
1. Only those over 65 are __________ for old-age allowance.
A. flexible    B. eligible     C. compromised      D. eased
2. The Chief Executive unveiled a new housing plan to help the sandwich class buy homes.
‘unveiled’ can be replaced by …
A. introduced    B. picked up    C. reached     D. displayed
3. Showing respect for our parents is regarded as desirable ___________  behaviour. 

A. finale    B. fillet    C. fitful    D. filial 
4. His car was in ___________  with a motorbike.
A. on collision of     B. on collision with   
C. in collision of      D. in collision with
5. Some institutions still have a strong ____________ against women.
A. opposition   B. capacity    C. bias     D. measure 
6. He was punished for failing to comply ____________ the school rules.
A. with    B. of     C. to     D. for 
7. Our school is playing  _________ to a group of visiting mainland teachers.
A. compromise     B. expansion     C. host     D. competitiveness 
8. She was arrested for ___________ the speed limit.
A. excessing     B. exceeding     C. excising     D. excelling 
9. This decision __________ the way for changes employment rights for women.
A. improved     B. paved     C. rushed     D. fell through 
10. Attractive fringe benefits would __________ her to accept the job.
A. rush    B. pick up     C. introduce    D. induce
11. The cars were bumper-to-bumper on the road to the city centre.  
A. There was smooth traffic on the road.
B. Traffic was busy on the road.
C. There were few vehicles on the road.
D. There was an accident on the road causing traffic jam.
12. We need a more ____________  approach to deal with the problem.
A. filial   B. rapid    C. flexible    D. recycling
13. She is still ___________ dependent on her parents.
A. finance    B. financial    C. financially    D. financing 
14. His hard work contributed to the success of the exhibition.
‘contributed to’ can be replaced by …
A. helped to bring about        B. led to
C. made it possible for          D. gave rise to 
15. Sam’s parents were highly critical of the school. 
They thought the school policy was …
A. good.    

B. bad
C. uncertain
D. important
16. A survey has found that most parents mistakenly believe that butter, peanut butter, condensed milk and jam are healthy breakfast choices for their children. A dietitian has pointed out that these ___________ are often rich in saturated fats, sugar and salt.
   A. strips    B. streaks    C. spreads     D. strands 
17. Hundreds of protesters took to the streets of Central yesterday to protest against a government policy forcing schools to close because of _________________.
A. surplus teachers     B. inadequate resources    C. financial strain    D. falling enrollment
18. A customs officer injured in an anti-smuggling operation was yesterday snatched from the jaws of death when a colleague donated part of his_____________.

   A. lung    B. liver    C. kidney      D. bladder 
19. Which of the following about a survey of hair loss is wrong?
   A. 68 percent said hair loss reduces their self-confidence.  
 B. 40 percent said hair loss hinders their competitiveness in the job market.   
C. A majority of respondents would seek treatment.

D. Many use shampoos for their hair loss.
20. "Uncle Four" Lee Shau-kee’s bachelor son Peter Lee has fathered three sons by using a _________ mother in the United States.
   A. surrogate    B. substitute    C. suffice    D. suture 
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(Phrases: October 2010   News: October 16 – November 15)

                                                                                       December 1, 2010                                          Name: _____________ (     )
1. Only those over 65 are __________ for old-age allowance.

A. flexible    B. eligible     C. eased
2.  The Chief Executive unveiled a new housing plan to help the sandwich class buy homes.
‘unveiled’ can be replaced by …
A. introduced    B. picked up    C. reached     
3. Showing respect for our parents is regarded as desirable ___________  behaviour. 

A. finale    B. fillet    C. filial 
4. His car was in ___________  with a motorbike.
A. on collision of     B. in collision of     C. in collision with
5. Some institutions still have a strong ____________ against women.
B. opposition   B. bias    C. measure 
6. He was punished for failing to comply ____________ the school rules.
B. with    B. of     C. to    
7. Our school is playing  _________ to a group of visiting mainland teachers.
A. compromise     B. competitiveness     C. host   
8. She was arrested for ___________ the speed limit.
A. excelling     B. exceeding     C. excising   
9. This decision __________ the way for changes employment rights for women.
A. improved     B. paved     C. fell through 
10. Attractive fringe benefits would __________ her to accept the job.
A. rush    B. pick up     C. induce
11. The cars were bumper-to-bumper on the road to the city centre.  
A. There was smooth traffic on the road.
B. Traffic was busy on the road.
C. There were few vehicles on the road.
12. We need a more ____________  approach to deal with the problem.
A. filial   B. rapid    C. flexible   
13. She is still ___________ dependent on her parents.
A. finance    B. financial    C. financially    
14. His hard work contributed to the success of the exhibition.
‘contributed to’ can be replaced by …
A. helped to bring about    B. led to    C. gave rise to 
15. Sam’s parents were highly critical of the school. 
They thought the school policy was …
A. good.    B. bad     C. uncertain
16. A survey has found that most parents mistakenly believe that butter, peanut butter, condensed milk and jam are healthy breakfast choices for their children. A dietitian has pointed out that these ___________ are often rich in saturated fats, sugar and salt.
   A. strips    B. streaks    C. spreads     D. strands 
17. Hundreds of protesters took to the streets of Central yesterday to protest against a government policy forcing schools to close because of _________________.
A. surplus teachers     B. inadequate resources    C. financial strain    D. falling enrollment
18. A customs officer injured in an anti-smuggling operation was yesterday snatched from the jaws of death when a colleague donated part of his_____________.

   A. lung    B. liver    C. kidney      D. bladder 
19. Which of the following about a survey of hair loss is wrong?
   A. 68 percent said hair loss reduces their self-confidence.  
 B. 40 percent said hair loss hinders their competitiveness in the job market.   
C. A majority of respondents would seek treatment.

D. Many use shampoos for their hair loss.
20. "Uncle Four" Lee Shau-kee’s bachelor son Peter Lee has fathered three sons by using a _________ mother in the United States.
   A. surrogate    B. substitute    C. suffice    D. suture 
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